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Description

Q.1
Which characteristic is commonly observed in adolescent learners?

(520121022 lel] QLW lR ML SAUL 4Rl HIHLL 1A %\dl HA 8?

Question ID:
Marks 1 10074682
No Options Details Correct Option
1 | High emotional stability G eldeilcHs RUdL null
2 | Strong cognitive development Ho 04 SllellcHs [dsL null v
3 | Fixed learning styles [Re2 (21w d L] 2ld ]l null
4 | Low curiosity ALY slds null
Q.2
Which of the following is a learner-related factor affecting teaching?
of1Aeil US| 53 [RuellR ALE AsNIAG ded [RU&18LA Ueilldd 52 B?
Question ID:
Marks 1 10074783
No Options Details Correct Option
1 | Use of ICT tools v, 1.2l GusWlell GUldL null
2 | Institutional policies A o] eAl[ddl null
3 | Emotional readiness MldetlcHs dARL null v
4 | Classroom infrastructure ddIu{Sell HINWLS[A Y[dHL null
Q.3
What is the primary purpose of communication?
Ul detell UlelHs &q Q) 872
Question ID:
Marks 1 10074784
No Options Details Correct Option
1 | Toargue [ddle sdl null
2 | To exchange information Hiledl [dlAHy sdl null v
3 | To entertain Hel |91 Y= ULSY null
4 | To confuse HAABIHL {59 null




Q4
Which of the following is a type of non-verbal communication?

o1 o1l US| 54 14211[6£.5 ULUetoll USIR B?

Question ID:
Marks 1 10074785
No Options Details Correct Option
1 | Speaking dsdl ¥udg
2 | Writing quig
3 | Gestures Usd v
4 | Reading dliig
Q.5
Which of the following is a barrier to effective communication?
of1Aeil US| 5Y USRS U [Uols] 1Y S B?
Question ID:
Marks 1 10074786
No Options Details Correct Option
1 | Clear message W Al
2 | Noise elelle o
3 | Feedback ulddle
4 | Eye contact B{[uel] YUS
Q.6
Which type of communication happens in a classroom setting?
d2[UiSHI UL USIRe] ULet 1A B?
Question ID:
Marks 1 10074787
No Options Details Correct Option
1 | Mass communication UHE Ul el
2 | Group communication AU-UUL YRl [} v
3 | Interpersonal communication vid: dY[Scs ULl
4 | Intrapersonal communication v{dR dY[Sds Ul




Q.7
Which of the following is an example of mass media?

o1 Aeil US| 53y UYS HIrAHe] Gels8L B?

Question ID:
Marks 1 10074788
No Options Details Correct Option
1 | Personal diary [5ddld SIURI
2 | Television FCICE S v
3 | Telephone call cdlsle sl
4 | Group discussion o Y|
Q.8
Which of the following is a teacher-centred method?
ol 1Ml 58 Ueg[d (181s-5(td 872
Question ID:
Marks 1 10074789
No Options Details Correct Option
1 | Group Discussion ol YUl
2 | Project Work ylosse sl
3 | Lecture Method e (Ll Ysg[dl v
4 | Role Play ¢f[Hsl Meyadl
Q.9
Which method encourages active participation of students in the learning process?
56 Ueg(d 2flwdle{l ulsaii [Qarelailel Alsa el Vlcdlsst A1 8§72
Question ID:
Marks 1 10074790
No Options Details Correct Option
1 Lecture SIS
2 | Seminar AlHAR
3 | Group Discussion o YUl v
4 | Dictation HAdqUet




Q.10

Which of the following is an online learning platform initiated by the Government of India?

o{1s11 USL $Y HIRA USIR G2 2R 52UAG wileleli®yet 2flwictlo] HILAH B?

Question ID:
Marks 1 10074791
No Options Details Correct Option
1 | NPTEL wayleleud null
2 | SWAYAM A null
3 | SWAYAMPRABHA AYY UL null
4 | All of the above GYrell | null v
Q.11
What does MOOCs stand for?
MOOCs =il Y2 14 g 87?
Question ID:
Marks 1 10074792
No Options Details Correct Option
1 | Massive Open Online Courses H[Ud U Wl leed sIN|Y v
2 | Modern Online Official Curriculum HISe AlAd 18 1l [s[1ud sRsyau
3 | Modular Open Objective Courses HISYER WU Aloiw(sed sINIY
4 | Multiple Offline Online Courses Yleeud wIs6 8ol AIaell8el SIN[Y
Q.12
What is the main characteristic of scientific research?
dsillls dellteie] Hul qeiQl 9 87
Question ID:
Marks 1 10074793
No Options Details Correct Option
1 | Personal opinion [ Scldld A [HUIRL
2 | Subjectivity e [scldlddl
3 | Objectivity Gedl v
4 | Assumption SIRAS]




Q.13

Which research method is used to study past events?

#HA510s{] eleet o] WAL 5L HIR 8 AAbel Ueg[dell GUALIL 2 B?

Question ID:
Marks 1 10074794
No Options Details Correct Option
1 | Descriptive dRlellcdds
2 | Experimental VIENISE
3 | Historical v[dellds v
4 | Qualitative ABLHS
Q.14
What is the first step of the research process?
dANeel WlsAle veH uag 53 82
Question ID:
Marks 1 10074795
No Options Details Correct Option
1 | Data Analysis Hiledle] [csdNil
2 | Report Writing vlEdld QUe
3 | Identifying the Research Problem Aellted YHRY AL Al v
4 | Hypothesis Testing Y[RseUedl Ul
Q.15
Which referencing style uses author-date format?
56 Aee] Adl Aus-dluw gslesil Gulal 52 82
Question ID:
Marks 1 10074796
No Options Details Correct Option
1 | APA ARA null v
2 | MLA WHUEA null
3 | Chicago [2Ls12L null
4 | Footnote Style seetle Qldl null




Q.16
What is the use of ICT in research?

AAAU| ICT =1l GUALdL ] B?

Question ID:
Marks 1 10074797
No Options Details Correct Option
1 | Entertainment Hol |91
2 | Improving handwriting Excdlél Yulg
3 | Data collection and analysis Hilsdl wslAd 54l 2ol [asdNRL 59 v
4 | Drawing diagrams wIs[dul elrdl
Q.17
What is the next number in the series: 2, 6, 12, 20, 30, ?
AQ{le] AN el Q) 11d2: 2, 6, 12, 20, 30, ?
Question ID:
Marks 1 10074798
No Options Details Correct Option
1 | 36 3%
2 |40 ¥o
3 | 42 e v
4 | 44 ¥Y
Q.18
Find the nextterm: A, C, F, J, O, ?
W 10A] dodss) QL A, C, F, J, 0, ?
Question ID:
Marks 1 10074799
No Options Details Correct Option
1|8 S
2T T
3 (U u v
4 |V \%




Q.19

A man buys an article for Y500 and sells it for ¥600. What is the profit percentage?

W5 cUl5d FUooH| daq WL B Wal Teoon| AA B. eisle(l 251d13] Bedl?

Question ID:
Marks 1 10074800
No Options Details Correct Option
1 | 10% 10%
2 | 15% Y%
3 | 20% 0%
4 | 25% Y% v
Q.20
If a train runs at 60 km/hr, how long will it take to cover 180 km?
% 241 €0 [SH/5a15e1l $SU Y B, dl A 3¢ol5.:] sAR Sl S2dl YUY 4Q1?
Question ID:
Marks 1 10074801
No Options Details Correct Option
1 | 2hours R 54lS
2 | 2.5 hours LU s541s
3 | 3hours 3 54lS v
4 | 4 hours ¥ 54LS
Q.21
If in a certain code, CAT = DBU, then DOG = ?
%) 516 SISHI CAT = DBU &1, dl DOG = ?
Question ID:
Marks 1 10074802
No Options Details Correct Option
1 | EPH EPH v
2 | EPG EPG
3 | DPH DPH
4 | FPH FPH




Q.22

What is the term used to refer to the relationship between the premise and conclusion in an argument?

ASHI YdHRI1L 1 1R dAell Hoiua sl Aoee] Aoludidi w19 82

Question ID:
Marks 1 10074803
No Options Details Correct Option
1 | Mood [Hex1os
2 | Figure WLS1IR
3 | Validity Hlodl v
4 | Structure Y|
Q.23
Which of the following is NOT a formal fallacy?
o121 U] 56 WUUIRS UIHSAL otefl?
Question ID:
Marks 1 10074804
No Options Details Correct Option
1 | Affirming the consequent VoY leie] Y[ 5dl
2 | Denying the antecedent ydHRQLLe «s12] sledl
3 | Straw man R v
4 | Circular reasoning AKYER UAlel[L
Q.24
Which of the following describes the process of deductive reasoning?
o{1s11 U] 53 [A2HeALHS d5 Ul5ULA drld B2
Question ID:
Marks 1 10074805
No Options Details Correct Option
1 | Making generalizations based on specific [cl[21® Add]setlal AR UIHIRSWAL 5],
observations
2 | Drawing specific conclusions from general UH LR YU RBIRAIHIAL Y1s5U dRBL Sleq, v
premises
3 | Relying on subjective experiences S| &l wefelal U WLEIR Uvid]
4 | Using analogies to make comparisons déeil Hie Yoy geldsel GUldl sdl




Q.25
What is the purpose of using a Venn diagram in logical reasoning?

dL(5s [AURML Aot 215[Asil GUANIL Scloll G2l Q) B?

Question ID:
Marks 1 10074806
No Options Details Correct Option
1 | To visually represent categorical propositions  daL[d Uxdldl 3ol Y&l dRell odyle] £24eY 3 v
and the relationships between sets
2 | To test the validity of inductive reasoning WPIHeALHS dSell HildL ALl
3 | To analyze formal fallacies WIUYLRS dS ALHSclef [dsdNEl 5]
4 | To clarify definitions of terms uglol] L[] WY 5]
Q.26
Which of the following is one of the Pramanas in Indian logic?
ARcld d5etlaui «{1A=1 Us) 53 unIL 2
Question ID:
Marks 1 10074807
No Options Details Correct Option
1 | Upanishad Gul-ine
2 | Anumana (Inference) UjHlel (Inference) v
3 | Bhagavad Gita e121de, dAldl
4 | Meditation (=L
Q.27
What type of data is collected through interviews and observations?
Bo22c Wl WAl sell GIRL 5UL USIRL 32l As[AAd Ul B?
Question ID:
Marks 1 10074808
No Options Details Correct Option
1 | Quantitative Data UHIBLLAHS Sel
2 | Secondary Data Jlel sel
3 | Qualitative Data ABLLHS Sel v
4 | Classified Data dollsd Sel




Q.28
Which of the following is used to show the composition of data in a circular format?

INNLSIR 2ceYH ] Selefl el vidladl HIR «(lAeiH il Slell GUAloL YR 7

Question ID:
Marks 1 10074809
No Options Details Correct Option
1 Line Chart dleyel YL
2 | Histogram [sR1AMH
3 | Bar Chart WR UL
4 | Pie Chart ule yle v
Q.29
Which chart is most suitable to show trends over a period of time?
UHAALO M e, eatlaal HIR sUl U2 Hlell ay Aoy 87
Question ID:
Marks 1 10074810
No Options Details Correct Option
1 | Bar Chart WR AR
2 | Line Chart dleet Yle o
3 | Pie Chart ule Ale
4 | Table Chart eud Yle
Q.30
What is the first step in data interpretation?
321 weleeete] U udlg Y 877
Question ID:
Marks 1 10074811
No Options Details Correct Option
1 | Data Analysis G
2 | Drawing Conclusions [«1dsN sledl
3 | Data Presentation Seleil 2 ld
4 | Understanding the Data Set Sel el YH%q, v




Q.31
The term "Data Governance" primarily refers to:

"Y1 [Sc] 2LlHeA" 20estl YuAcd wel 2f B?

Question ID:
Marks 1 10074812
No Options Details Correct Option
1 | Graphical representation of data Hiledle A 1du @YU Uld[ed [t
2 | Analysis of public opinions oS W [MU Y] [N
3 | Management of data availability, usability, and HLl&dlell GUAGH AL, GUULLdL W=l YREtle] YL v
security
4 | Classification of primary data yle[Hs Hilsdle] ddlls
Q.32
What does the abbreviation ICT stand for?
ICT il Ayl el 9] B?
Question ID:
Marks 1 10074813
No Options Details Correct Option
1 | Information and Creative Technology pesRH 2l WS [sul2ld 25e1ldlY)
2 | Internet and Communication Technology Po2ele WeS SIRY[1 52U 251161) v
3 | Information and Communication Technology — e§1H2let ¥eS ST (152l 25<11ElY)
4 | Integrated Communication Technology He2AeS 1Y [1521e 25<116]%)
Q.33
Which of the following is used for real-time communication over the Internet using both audio and video?
o{le11 US] 5 [Asey Bo2aA2 U B [Suil w4 [CAlSuilell Guulal 5314 dlesi(@s ddle HIZ AU B?
Question ID:
Marks 1 10074815
No Options Details Correct Option
1 | E-mail §-Hod
2 | Video conferencing [c[su] sles[ea1 v
3 | SMs WHAWHUY
4 | Blogging NIEE




Q.34

Which digital initiative aims to enhance access to quality higher education in India?

MLIRAMI RlddIysd G [Areial YHleil uslu yuradl Ui 58 [S[e¥26 Ued 20 sdLHi 41d] 87

Question ID:
Marks 1 10074817
No Options Details Correct Option
1 | SWAYAM Yy v
2 | UIDAI YU LOS[ALY
3 | Make in India Us vt 8[eSUL
4 | Skill India [xs€ pyleSuUl
Q.35
What is the Intranet used for?
go2la2ell GUULdL Aell HI2 Al B?
Question ID:
Marks 1 10074818
No Options Details Correct Option
1 | Public access to websites W1E AHULB2U VSAU 5L HIL
2 | Internal communication within an organization dleil WIS HUIR U HIe v
3 | Online shopping W68l WRIE] HIC
4 | Social networking Al[2RIE Aed[so Hie
Q.36
Which of the following is an example of ICT in Governance?
o{111 UL 53 ICT in Governance o G&l&3L B?
Question ID:
Marks 1 10074819
No Options Details Correct Option
1 | Watching videos online wlAd 181 dl[SUl %lg
2 | E-Governance portals like Digital India [Slewedt SleSAUL el §-dlceie Ulea v
3 | Using mobile games HIW 186 3deA] GUldL
4 | Attending webinars Aol RML sl lud]




Q.37
Which of the following is not a Sustainable Development Goal (SDG)?

o{1e11 U] 53 251G [A51Y @ed (SDG) «tefl?

Question ID:
Marks 1 10074820
No Options Details Correct Option
1 No Poverty IR AL A
2 | Zero Hunger HUHR ellofg Sl
3 | Space Exploration v{d 5121 ULl v
4 | Quality Education JQldrld Y] [2le1Ql
Q.38
Which of the following is an anthropogenic activity causing environmental degradation?
o1 Qe Ml 58 HleidU (Bl Ug (et uAldNU WHA[de] S12E1 W B2
Question ID:
Marks 1 10074821
No Options Details Correct Option
1 | Volcanic eruptions °Q’CHUW;I,U{[ sleq
2 | Industrial emissions WLELLS Gdoset v
3 | Earthquakes WYL[PLS Gyoel
4 | Landslides GRalC !
Q.39 . . . . -
Climate change can lead to which of the following socio-economic impacts?
&dlMlel URA e oflAs1l US) 5L AL Lrs-241[2]s MR dRs €3] 23 B2
Question ID:
Marks 1 10074822
No Options Details Correct Option
1 | Increased agricultural productivity SN GusdIHL dHIR]
2 | Risein sea levels AY¢ Muleld dug v
3 | Decrease in natural disasters Sedl A uldulHl eelsl
4 | Stabilization of global temperatures Al&ls dluHleH] Rl




Q.40

Which of the following is a renewable energy source?

o1 Hief] 5\ elclefls2001u Gosl ¥ld B?

Question ID:
Marks 1 10074823
No Options Details Correct Option
1 | Coal slgl
2 | Petroleum uelldyy
3 | Wind Udel v
4 | Natural Gas Ssexdl oy
Q.41
The Environmental Protection Act in India was enacted in which year?
ClldM i UdldRl 818 A (A 56 Al €19] &) &d)?
Question ID:
Marks 1 10074824
No Options Details Correct Option
1 1972 e
2 | 1986 s v
3 | 1992 U
4 | 2001 009
Q.42
Institutions of higher learning in ancient India were primarily associated with:
UIR{leA HRAHL G ([21etlef] Aedld] Yudcd 1 1 450 R4 edl:
Question ID:
Marks 1 10074825
No Options Details Correct Option
1 | Religious instruction only HIA YLHs (188
2 | Technical education 2sleisd (2188l
3 | Centers like Nalanda and Takshashila olldel Aol detllEl adl Segl v
4 | Colonial universities dylsdl Ylela (e[l




Q.43

Which major policy impacted the evolution of higher education in Post-Independence India?

Addddl Uesletl HIRdHD G (Letletl (A1 UR 58 Hu ofl[dA WAR 5312

Question ID:
Marks 1 10074826
No Options Details Correct Option
1 | Education Commission (1964-66) (218131 A Y]] (1¢ey-S5) v
2 | RTE Act, 2009 12O W [e[AUH, R00¢
3 | National Forest Policy AR def of|[d
4 | Labour Law Reforms Y SIRAEIHL YHIRL
Q.44
Technical education in India is regulated by:
HIRAHI 25(eise (etle] [l 5181 53 8:
Question ID:
Marks 1 10074827
No Options Details Correct Option
1 | UGC YAl
2 | AICTE A OY 21 v
3 | NCERT NEE ERAEE
4 [ NCTE EFHEIR)
Q.45
Which of the following policies emphasize environmental education in India?
MRl YalaeY (Rleial U «1AeiHiell 58 ofl(d2d) o112 Y3 872
Question ID:
Marks 1 10074828
No Options Details Correct Option
1 | National Education Policy 2020 AUTLY [2L&QL #il[d 00 v
2 | Industrial Policy 1991 VYLLS oll[d 1eed
3 | National Transport Policy AR YRS «l[d
4 | Foreign Trade Policy [agll dulR «illd




Q.46

Read The Following paragraph and Give Answer

Scientific research plays a crucial role in the development of any society. It not only expands the
boundaries of human knowledge but also contributes significantly to technological advancements. Over
the years, governments and private institutions have invested heavily in research and development (R&D)
to foster innovation. This has led to remarkable breakthroughs in fields such as medicine, energy, and
information technology. However, the benefits of scientific research are not equally distributed. Developing
countries often struggle to access cutting-edge research due to lack of infrastructure, funding, and trained
personnel. Therefore, international collaboration becomes essential. When scientists from different parts
of the world work together, they can share resources, knowledge, and expertise, thereby overcoming
limitations. Moreover, ethical concerns in research must be addressed globally. Issues such as data
manipulation, plagiarism, and exploitation in clinical trials call for stronger regulation and transparency. A
responsible approach to research ensures that scientific progress serves humanity in an equitable and
sustainable manner.

What is the primary role of scientific research?

o 1Aell $5 dliU] A Usletlodi wallod ).
(AStileAioibd oMYA Uil [AsIMH Hecdysl ¢fHsl ¢2¥d 8. A HIA Hleld Silelofl sl [AadR B <&, u

([AstietRiod(Ed Aellels Hud 51 gf B2

Question ID:

Marks 1 10074829
No Options Details Correct Option
1 | Entertainment Yoi]R0gw
2 | Artistic Expression S0LLcHS W[ [sd
3 | Expanding knowledge and promoting SlleiH] AU R] W 25eildlell [dsld v

technology
4 | Political Decision Making A%S1Y [AR1A] qdl




Q.47

Read The Following paragraph and Give Answer

Scientific research plays a crucial role in the development of any society. It not only expands the
boundaries of human knowledge but also contributes significantly to technological advancements. Over
the years, governments and private institutions have invested heavily in research and development (R&D)
to foster innovation. This has led to remarkable breakthroughs in fields such as medicine, energy, and
information technology. However, the benefits of scientific research are not equally distributed. Developing
countries often struggle to access cutting-edge research due to lack of infrastructure, funding, and trained
personnel. Therefore, international collaboration becomes essential. When scientists from different parts
of the world work together, they can share resources, knowledge, and expertise, thereby overcoming
limitations. Moreover, ethical concerns in research must be addressed globally. Issues such as data
manipulation, plagiarism, and exploitation in clinical trials call for stronger regulation and transparency. A
responsible approach to research ensures that scientific progress serves humanity in an equitable and
sustainable manner.

What is one challenge faced by developing countries in research?

o{1ef] §51 i) ol Usletleli wallod A1),
(AStleAioi[dd MU U1l [AsIuH Hecdy l ¢Hs] ¢od 8. A HIA Hield Silelol Sl [ B «if&, U

(asieile 220l Alldaui 56 Ykdleil UMl 52 8?2

Question ID:
Marks 1 10074830
No Options Details Correct Option
1 | Too many scientists wULYSs dstilsl
2 | Overfunding dy usd eisla
3 | Lack of infrastructure and funding HINWLS[Y Ylau ] wel @Sloiedl Aeild v
4 | Excess collaboration dy Ysdl dedlal
Q.48 ) .
Read The Following paragraph and Give Answer
Scientific research plays a crucial role in the development of any society. It not only expands the
boundaries of human knowledge but also contributes significantly to technological advancements. Over
the years, governments and private institutions have invested heavily in research and development (R&D)
to foster innovation. This has led to remarkable breakthroughs in fields such as medicine, energy, and
information technology. However, the benefits of scientific research are not equally distributed. Developing
countries often struggle to access cutting-edge research due to lack of infrastructure, funding, and trained
personnel. Therefore, international collaboration becomes essential. When scientists from different parts
of the world work together, they can share resources, knowledge, and expertise, thereby overcoming
limitations. Moreover, ethical concerns in research must be addressed globally. Issues such as data
manipulation, plagiarism, and exploitation in clinical trials call for stronger regulation and transparency. A
responsible approach to research ensures that scientific progress serves humanity in an equitable and
sustainable manner.
Why is international collaboration in research important?
oflAell §5] ALl A Uslellal] ¥cllod .
[aAStleiod(td ANt UM 1ogetl [ASIUHT Hecd YRl (M5l ¢%d 8. d HIn Hisld Stietefl €l [AdR B =il u
WidRAYIY Aol A&AL2L 2L HIZ HecayRl 872
Question ID:
Marks 1 10074831
No Options Details Correct Option
1 | To avoid taxes s2ladl HIe
2 | To win awards YRS Haddl HIR
3 | To share resources and overcome limitations U ltelled]l dSUYBIL Sl Wl HY L] £ Sl v
4 | To publish more papers dy quil uslleld sl HLe




Q.49

Read The Following paragraph and Give Answer

Scientific research plays a crucial role in the development of any society. It not only expands the
boundaries of human knowledge but also contributes significantly to technological advancements. Over
the years, governments and private institutions have invested heavily in research and development (R&D)
to foster innovation. This has led to remarkable breakthroughs in fields such as medicine, energy, and
information technology. However, the benefits of scientific research are not equally distributed. Developing
countries often struggle to access cutting-edge research due to lack of infrastructure, funding, and trained
personnel. Therefore, international collaboration becomes essential. When scientists from different parts
of the world work together, they can share resources, knowledge, and expertise, thereby overcoming
limitations. Moreover, ethical concerns in research must be addressed globally. Issues such as data
manipulation, plagiarism, and exploitation in clinical trials call for stronger regulation and transparency. A
responsible approach to research ensures that scientific progress serves humanity in an equitable and
sustainable manner.

Which field is NOT mentioned as benefiting from scientific research?

o{1efl §51 i) ol Uslelloli wallod A1),
[AStleiod(td ANt UM 1ogetl [AsIUHT Hecd YRl (M5l ¢%d 8. d Ui Histd Stietefl €l [AdR B «ilE, u

o1 Qetl A-A1Hie]l 53 & AsiLlels A uetel] dlel o Ui S1A Ud Geau [y «1efl?

Question ID:

Marks 1 10074832

No Options Details Correct Option

1 | Medicine WYy [

2 | Energy Glost

3 | Information Technology Hiledl 2s-1ldlY

4 | Literature Allexy v

Q.50 . .
Read The Following paragraph and Give Answer
Scientific research plays a crucial role in the development of any society. It not only expands the
boundaries of human knowledge but also contributes significantly to technological advancements. Over
the years, governments and private institutions have invested heavily in research and development (R&D)
to foster innovation. This has led to remarkable breakthroughs in fields such as medicine, energy, and
information technology. However, the benefits of scientific research are not equally distributed. Developing
countries often struggle to access cutting-edge research due to lack of infrastructure, funding, and trained
personnel. Therefore, international collaboration becomes essential. When scientists from different parts
of the world work together, they can share resources, knowledge, and expertise, thereby overcoming
limitations. Moreover, ethical concerns in research must be addressed globally. Issues such as data
manipulation, plagiarism, and exploitation in clinical trials call for stronger regulation and transparency. A
responsible approach to research ensures that scientific progress serves humanity in an equitable and
sustainable manner.
What ethical concern is mentioned in the passage?
oflAell §5] ALl A Uslelal] ¥cllod .
[aAStleiod(td ANt UM 1ogetl [AsIUHT Hecd YRl (M5l ¢%d 8. d HIn Hisld Stietefl €l [AdR B =il u
GURASd AU 53 Alds Ust GeAu ] 87

Question ID:

Marks 1 10074833

No Options Details Correct Option

1 [ Climate change &dlHlel URdldet

2 | Data manipulation seledl &gl v

3 | Population growth ddl ddRl

4 | Gender equality [l HHLeldl




Q.51 What is the main component of the economic environment?

125 UUldRBle Hud ges 9f 872

Question ID:
Marks 1 10086004
No Options Details Correct Option
1 | Political Policies %S Allddl
2 | Economic Policies VL[S dlldudl v
3 | Social Factors AHL[s uRwal
4 | Legal Regulations Slefetl [lyHat
Q.52 Which act protects consumer rights in India?
HIRAUL sUL A (E (A4 Ales &5lof 818l 52 B?
Question ID:
Marks 1 10086005
No Options Details Correct Option
1 FEMA FEMA
2 | SEBI Act SEBI [t [N
3 | Consumer Protection Act AlSS QL W (Y [4yH v
4 | Companies Act SUof 3] w4 [e[yH
Q.53 What is the primary goal of the World Trade Organization (WTO)?
(csd AUIR ARRUL (WTO) of UledHs 48 Q) 87
Question ID:
Marks 1 10086006
No Options Details Correct Option
1 | Promote Trade Restrictions dUR AdRlHle Ul lset vilug
2 | Facilitate International Trade VLARRUB L dUIRed YIAH elaldl] v
3 | Support Local Businesses R[5 AU Rl 25l H14dl
4 | Enforce Political Policies A¥S5[Y dllddl d19) s2dl




Q.54 Which regional trade agreement includes India?
SULUIR[RUS AUIR SARMI MRclell YH 1AL A B?
Question ID:
Marks 1 10086007
No Options Details Correct Option
1 | North American Free Trade Agreement GdR WH[Se Y5 dUIR SAR (NAFTA)
(NAFTA)
2 | Association of Southeast Asian Nations el&181Yd [t AR L] U2UEe1, (ASEAN)
(ASEAN)
3 | South Asian Association for Regional e8] A [y YlL[US USSR U261 (SAARC) v
Cooperation (SAARC)
4 | European Union (EU) YAIUYeA Y[Yel (EV)
Q.55 What is the primary function of the IMF?
WidRAYIU <1181 eislol (IMF) of Yo s1l 9] 87
Question ID:
Marks 1 10086008
No Options Details Correct Option
1 | Provide Loans to Countries e2llel @l Uelel 54l v
2 | Regulate International Trade WLARUB[ dUIRe [1dHel 53]
3 | Reduce Government Interventions U1 sd &y eelsdl
4 | Promote Political Stability A%S[U [RAUALA UlRdlEed A 1Ug|
Q.56 Which of the following is not a basic accounting principle?
{12s11 U] 53 Yoreyd [Su10d] (Regid «1efl?
Question ID:
Marks 1 10086009
No Options Details Correct Option
1 | Revenue Recognition Principle w1ds YUleelatl [Aegld
2 | Matching Principle HOdRl -] [Megld
3 | Cost Principle USdRell [Megld
4 | Arbitrary Principle Hetxd ldletl [Aegld v




Q.57 Holding company accounts are primarily used to consolidate:

UAUS SUsflell [SULW] Yuucd Sleil W55 HIZ GUAIH 41d B?

Question ID:
Marks 1 10086010
No Options Details Correct Option
1 | Fixed Assets SIIHL (HE sl
2 | Branch Accounts LWL
3 | Subsidiary Accounts B [EEVEIEN) vz
4 | Proprietorship Accounts wsisl Hilasl
Q.58 Marginal costing is primarily used for:
AHid usdretl Yud Gulal 9] 87
Question ID:
Marks 1 10086011
No Options Details Correct Option
1 | Long-term investment decisions elelsieled RAS1RLeAL [AQ1] HI
2 | Short-term decision making 25LLULeAL [AARUL HI v
3 | Tax calculations 52l HIe
4 | Auditing purposes vl[se equil HIe
Q.59 IFRS stands for:
IFRS qf Y ollH ...........
Question ID:
Marks 1 10086012
No Options Details Correct Option
1 | Indian Financial Reporting Standards IRl cAlRls[A viedld bRl
2 | International Financial Reporting Standards ~ 31dRUB[ «A1L1IS[A viedld "l v
3 | International Firm Regulation Standards WIARABIL sUeAL [ blR01)
4 | Indian Fiscal Regulation System MRl A lRlLS[A [AdHeA Ueg[d
Q.60 The main objective of vouching in auditing is to:
1(SeHi dIG RN Yud & .............
Question ID:
Marks 1 10086013
No Options Details Correct Option
1 | Verify the authenticity of transactions dsRledl [dadYetludl Usiydl v
2 | Prepare financial statements IQULSIY UAS| dAIR $dl
3 | Allocate expenses WAL sladll sl
4 | Determine net profit YL o8] o1ss] sl




Q.61 The Law of Demand states that:

Hidtel) (AU XQAA D oo

Question ID:
Marks 1 10086014
No Options Details Correct Option
1 | Demand increases as price increases [sHd dd dH HIdoL dY
2 | Demand decreases as price decreases [SUd ele dH HIdL ee
3 | Demand increases as price decreases [sHd €e dH HIdLdY v
4 | There is no relation between demand and HI2L el [SHA a2 516 Holu -]
price
Q.62 Elasticity of demand measures:
Hidlefl Yo AL oo 4 B?
Question ID:
Marks 1 10086015
No Options Details Correct Option
1 | The relationship between demand and cost HIOL A W dRef] ody
2 | The responsiveness of demand to price QLLAHL $§1R2 HIe HIdleAl Uldlsul v
changes
3 | The supply changes in the market WO YRASIHL 1R
4 | The total revenue of a firm Ualell 56 u1lds
Q.63 In consumer behavior, indifference curve analysis is used to:
Ales ddeiui, GelAleldl dsell GulaL 2L HI2 Y B
Question ID:
Marks 1 10086016
No Options Details Correct Option
1 | Determine the price elasticity of demand HI2Lel | HRU AU L aiss] sal UL
2 | Show combinations of goods giving equal HH Lol HdIN udl ylosleil wslsiell eQllddl v
satisfaction
3 | Analyze supply chain management R RICEN CEANERTE
4 | Measure total cost of production §6 Glleel W HIUdL HIR




Q.64 A characteristic of oligopoly is:

UREHAS BRI 4L B:

Question ID:

Marks 1 10086017

No Options Details Correct Option

1 | Many small firms elQL[ ellet] sUeiln]

2 | No competition BEEYCIETH

3 | Few firms dominating the market lsl Ualal e YR eldl v

4 | Free entry and exit Y5d UdQl e WsIR wilsng

Q.65 Monopoly exists when:

SR SR AR cani elu?

Question ID:

Marks 1 10086018

No Options Details Correct Option

1 | There are many sellers oI Rl dUeAIRIAM] &l

2 | There is only one seller ORI HIA wS % dYAR SlY v

3 | The government sets all prices ORI USSR Y| Mld] «iss] 52

4 | There are no buyers AR 516 WRleedR o1l SlY

Q.66 The time value of money concept states that:

o8] UHY YR [Riegid 5& B 3:

Question ID:

Marks 1 10086019

No Options Details Correct Option

1 | Money today is worth more than the same VL [OFe1L oL M [ANel | AU Lol RSH S dy YU v

amount in the future
2 | Future money is worth more than today's L[Nl o QL] A L%ell «lLBLL Sl dy HEUd L 8§
money
3 | Money has no time value ollQllol YHA YR «18]]
4 | Money's value remains constant over time o [Qlle] HRL SHIL RS &




Q.67 Which factor does NOT directly affect capital structure decisions?

of1Aeil US| ALLISIA HINWL HIR 53 AlY MASRS URHA «12]]?

Question ID:
Marks 1 10086020
No Options Details Correct Option
1 | Cost of debt gdlell Usdr
2 | Availability of funds elslael Gudoydl
3 | Employee satisfaction SHYIRL YdIN v
4 | Risk associated with capital ysl dle Ysu g sy
Q.68 Net Present Value (NPV) is used in:
Alun dcdile YU (NPV) <l GulaL sui el 87
Question ID:
Marks 1 10086021
No Options Details Correct Option
1 | Working capital management slAelle ysl vUlded
2 | Dividend decision [SlctSes A2sil [AQ1Y
3 | Capital budgeting yslueluat v
4 | Lease financing elstyzl
Q.69 Working capital management primarily deals with:
sidelld 43l Auldel Yuud ol 419 50134 B:
Question ID:
Marks 1 10086022
No Options Details Correct Option
1 | Long-term investment decisions Lol AL Letl RASLRLL 1e] [y
2 | Managing short-term assets and liabilities 251U oAl [HE Sl wdel ecllef YIGeA v
3 | Setting dividend policies [S[clseS eflldn] «1ss] s2dl
4 | International monetary policies ULARUBIA <A lRLLS[Y <illcd
Q.70 The foreign exchange market is primarily used for:
(22l (aletHa vosRet] Yud GulaL Hl2 Al B,
Question ID:
Marks 1 10086023
No Options Details Correct Option
1 | Buying and selling stocks AR WRlel Wl dUIRLHIR
2 | Trading currencies YRl dlelell duR Hie v
3 | Investing in real estate oLy sIH GAUHLAUSIBLHLR
4 | Issuing bonds oS &Y HIC




Q.71 What is the measure of central tendency that represents the middle value of a dataset?

Helodl RelldHlelo] HIU S % HI[Slotl UHSe] HeaH Y £211Q B?

Question ID:
Marks 1 10086024
No Options Details Correct Option
1 Mean Hels
2 | Median Hely v
3 | Mode weds
4 | Range (AR
Q.72 What does a positively skewed distribution indicate?
&SRS [ANY (AdRle) 9 w1ef eliy B2
Question ID:
Marks 1 10086025
No Options Details Correct Option
1 | Mean Heys
2 | Mean > Median > Mode Hes > Hee > ol gds v
3 | Mean = Median = Mode Hels = He|e = (g4 S
4 | None of the above GURLsd Usl A5 uwl slel
Q.73 Which statistical technique is used to measure the strength and direction of a relationship between two

variables?

58 WisslUBA Ueg(d A Ud dReil oibs] (€Ll M dladl Hiudl Hi2 GuAlaMi Adl 87

Question ID:
Marks 1 10086026
No Options Details Correct Option
1 Regression [y dMody (Regression)
2 | Correlation HeUWY (Correlation) v
3 | ANOVA [l Y2 531 (ANOVA)
4 | Chi-square test 519-35dR UR|&Ql (Chi-square test)
Q.74 What is the probability of getting a head when a fair coin is tossed once?
WS U Wi (Hold [15S) GOINdIH AH1d AR 891U A Iddlef] UL 32l 872
Question ID:
Marks 1 10086027
No Options Details Correct Option
110 0
2 (05 0.5 v
3 (1 1
4 |2 2




Q.75

Which of the following is a non-probability sampling method?

of1Qe1l US| 58 eiyell UL Useg [t (Gdot-eildatl (de2lel Usg(d B2

Question ID:
Marks 1 10086028
No Options Details Correct Option
1 | Simple random sampling AR YL&[95 [1e2let Ueg[d
2 | Stratified sampling xUd Ale[95 [l Ueg[d
3 | Cluster sampling €9 (RHWL) [de.2lel Useg[d
4 | Convenience sampling w501 (ULA[ILS) [l Usgld v
Q.76 The primary function of management is:
AAldelo] Hu 51 9f B?
Question ID:
Marks 1 10086029
No Options Details Correct Option
1 | Planning W [U]°gel v
2 | Advertising sl&Ud
3 | Auditing y|[s[2al
4 | Recruitment dl
Q.77 Maslow’s theory of motivation is based on:
H1e)e] A HYRQUIA] Riegid el U A1ELRA 872
Question ID:
Marks 1 10086030
No Options Details Correct Option
1 | Five levels of human needs Hled [y e RALdledl UL 2L v
2 | Two-factor theory [g-5125 [Uegld
3 | Expectancy theory wuell [(Hegld
4 | None of the above GUUsd slY <&l
Q.78 Corporate governance ensures:
sliRe dAdelo .. ofl Wld3 w2
Question ID:
Marks 1 10086031
No Options Details Correct Option
1 | Efficient leadership VUSRS e
2 | Transparency and accountability URe[ldl el GdRell[cd v
3 | Unethical business practices de LS Wl lds vell
4 | Monopoly in the market WU B2




Q.79

Human resource planning includes:

Hletcl Yltiol WIRANAHT UHIAA AL B

Question ID:
Marks 1 10086032
No Options Details Correct Option
1 | Estimating future HR needs AN Hlod Yltled AeRULd]eA] Ae10f v
2 | Ignoring employee turnover SHAR| 5046l Add11d]
3 | Increasing conflicts AN dyd]
4 | Avoiding training programs dldlH slIsHl elndl
Q.80 Performance appraisal is used to:
s3] YeUisel Ul HIZ AUy 87
Question ID:
Marks 1 10086033
No Options Details Correct Option
1 | Determine employee tax liability SHAR e 5dR1eA] walofelR] 185l AL HIL
2 | Evaluate employee performance SHAR| sIUHAL YRS HIe v
3 | Conduct market research o812 YUlYel sl HIe
4 | Reduce production costs Gallesl W glsdl Hie
Q.81 Which institution regulates the banking system in India?
HIRAUI (531 Rieus] [1uHet 565 el 52 B?
Question ID:
Marks 1 10086034
No Options Details Correct Option
1 | SEBI Aol (SEBI)
2 | RBI WR.WLAHLY (RBI) v
3 | IRDAI W16, 3412.5. 3. 3118. (IRDAI)
4 | NITI Aayog o[ ALY (NITI Aayog)
Q.82 Which of the following is not a type of bank in India?
o121 U] 56 Asell UsIR «1efl?
Question ID:
Marks 1 10086035
No Options Details Correct Option
1 | Commercial Bank dllQleRl uis
2 | Regional Rural Bank ylel2ls ALMHRL ols
3 | Cooperative Bank deskRl os
4 | Universal Bank Y[oldyd uls v




Q.83

What are Basel norms related to?

WA»d YRALRELL Sletl Aoifdd 87

Question ID:
Marks 1 10086036
No Options Details Correct Option
1 | Insurance regulations dlyL [«1dul
2 | Banking sector reforms ol[590 &lo YulRIAL v
3 | Taxation policies 53R ol [dn]
4 | Foreign exchange management [aeoll [dlAHd YUl
Q.84 Which of the following is a part of the financial market?
53 <1lRQILS1Y WoRe) Q1L 87
Question ID:
Marks 1 10086037
No Options Details Correct Option
1 | Money market ol 1BLL 1R
2 | Capital market Ysl ool
3 | Government securities market ARSI H AN R [ e, c4os12
4 | All of the above GURLSd Wl o f
Q.85 Which institution regulates the insurance sector in India?
HRAHL dlHL A 58 ARell (AdHd 52 87
Question ID:
Marks 1 10086038
No Options Details Correct Option
1 | RBI B[R, ALY (RBI)
2 | SEBI Aou{| (SEBI)
3 | IRDAI 316, 31R.5]. 4. 2119 (IRDAI) v
4 | NABARD «{l41S (NABARD)
Q.86 What does NPA stand for in banking?
AZo1Hi NPA-L w8l 9f 872
Question ID:
Marks 1 10086039
No Options Details Correct Option
1 | Non-Performing Asset oilel-U§1[HIL A e v
2 | National Pension Authority 2leld Yol 3|el[R2]
3 | New Payment Arrangement ] YHo2 WeYHe2
4 | Net Profit Account o2 Ul[se wsIG




Q.87 The primary role of NABARD is:

NABARD o 4u 513 9] 87
Question ID:
Marks 1 10086040
No Options Details Correct Option
1 | Financing large-scale industries Hlel GaldLle a1 L YL uLsdl
2 | Regulating stock markets QR0 [ U 539
3 | Providing rural and agricultural finance AULMBL ved 5[ &ldel o 1QLLS[ Aeld Yl ulsdl v
4 | Issuing government bonds AR odles el ulsdl
Q.88 The 4Ps of marketing include:
UIS[2olell 4P’s Hi 2ol UM1A Y B?
Question ID:
Marks 1 10086041
No Options Details Correct Option
1 | Price, Product, Promotion, Place [sHd (Price), Galltsl (Product), YU IR (Promotic v
2 | Plan, Policy, People, Process Y|l (Plan), <illd (Policy), @lsl (People), Uls¥
3 | Purchase, Payment, Publicity, Profit WRlel (Purchase), Y59ll (Payment), 1EAWG:
4 | Packaging, Production, Performance, Process U5%)3l (Packaging), BcUlésl (Production), S1H2l
Q.89 What is the first stage of the product life cycle?
Ue 12l et Usell UUH dudssl sl 82
Question ID:
Marks 1 10086042
No Options Details Correct Option
1 | Introduction U@ v
2 | Growth qleg
3 | Maturity uRusddl
4 | Decline USdl
Q.90 What does CRM stands for in marketing?
UI5(2o1Mi CRMe1) el 9 87
Question ID:
Marks 1 10086043
No Options Details Correct Option
1 | Consumer Rate Management Ales e MG
2 | Customer Relationship Management Alss Hulltd HULlEed v
3 | Cost Reduction Marketing Wy gelsl Hisleal
4 | Competitive Resource Management AL [HS ALl YUIEe]




Q.91 Green marketing refers to marketing activities that promote:

Aot HI5(321o0) el Q) B?
Question ID:
Marks 1 10086044
No Options Details Correct Option
1 | Profitable Products 51515 Gllell
2 | Environmentally Friendly Products UYWL ¥ei 501 Blleell v
3 | Luxury Products dd] Gaylesil
4 | Sustainable Products 2518 Gculestl
Q.92 Which of the following is NOT an essential element of a valid contract under the Indian Contract Act,
18727
HIRALY SR W [el[14H, 1872 601 53 cdled Ul $AU UL WY S «18f]?
Question ID:
Marks 1 10086045
No Options Details Correct Option
1 | Free consent Ysd YHld
2 | Lawful consideration S11eHR Ao
3 | Registration of contract PRIEE ) CIEIERTE] v
4 | Competency of parties uaisiRledl ALY dl
Q.93 Under the Sale of Goods Act, 1930, the term "Caveat Emptor" means:
Hig QUL w(E[AAH, 1930 601 "Caveat Emptor” «il w2l 2} 872
Question ID:
Marks 1 10086046
No Options Details Correct Option
1 | Letthe seller beware d¥yeilR ld 2E
2 | Letthe buyer beware WRleeIR %19)d € v
3 | Goods once sold cannot be returned HIG salR Al el Ul ud |9 sl el
4 | Buyer and seller both must be aware URIEEIR el dYeil g 19d 2ed 1O
Q.94 A Limited Liability Partnership (LLP) is governed by which act in India?
HIA(Ed dlnelatol]l oflel?] (LLP) suL w(d (M 601 341 8?
Question ID:
Marks 1 10086047
No Options Details Correct Option
1 | The Companies Act, 2013 sUq| u[d[144, 2013
2 | The Indian Contract Act, 1872 HRALL 5 vi[[AUH, 1872
3 | The Limited Liability Partnership Act, 2008 HIL[ed walofelR] eaLlelR] w4 [e[dH, 2008 v
4 | The Partnership Act, 1932 MRAI ddLleRI Ualetl 21 [u[1yH, 1932




Q.95 The Information Technology Act, 2000 primarily deals with:

Hiledl 25e1d1%) 2 [ell-14H, 2000 HuAcQ Qf 4C1LA B?

Question ID:
Marks 1 10086048
No Options Details Correct Option
1 | Cyber crimes and penalties URYGR Iell Aol £5 v
2 | Taxation on digital services [slwed UdlAl UR 52
3 | Online shopping regulations Bl D9 LML [AYH]
4 | International trade laws VARUBIY dUIR Sl
Q.96 Intellectual property rights protect:
uil(egs AUl 2(Es12) (Intellectual Property Rights) Sl 42&il 41U 872
Question ID:
Marks 1 10086049
No Options Details Correct Option
1 | Land ownership ETIERTICE]
2 | Business contracts dylsld sAU
3 | Creative and innovative works U%ellHS el ol S1A v
4 | Employee benefits sHURL dledl
Q.97 Advance tax payment is applicable when the tax liability exceeds:
L] 502Ul Ysar(l &R @I US 8, AR 52 w3 ... s8] ay ely?
Question ID:
Marks 1 10086050
No Options Details Correct Option
1 Rs. 5,000 :. Y o000
2 | Rs. 10,000 3. 30,000 v
3 | Rs. 50,000 . Yo o000
4 | Rs. 1,00,000 3. 9,00,000
Q.98 The standard deduction available to salaried employees in the new tax regime (AY 2024-25) is:
15160 Y 202¥-U $601 ULREIR sHUIZIB) HI2 Guaet YHIBId sUld 32¢] 87
Question ID:
Marks 1 10086051
No Options Details Correct Option
1 | Rs. 50,000 2, Yo,000 v
2 | Rs. 75,000 e, 9Y, 000
3 | Rs. 2,50,000 . 2, 4o 000
4 | No Standard Deduction s19 UHL[Bld sUld Gudud <]




Q.99 The penalty for late filing of income tax returns in India can be up to:

ML AIdsARU Reol H1S 5184 scletl £5eil HedH 251 3edl &1 23?2

Question ID:
Marks 1 10086052
No Options Details Correct Option
1 | Rs. 1,000 e, 4,000
2 | Rs. 10,000 . 90,000 v
3 | Rs. 50,000 ¥, Yo 000
4 | Rs. 5,000 ¥®, Y, 000
Q.100 Which form is used for e-filing income tax returns by individuals having salary income?
S8 U5 B WLIReAl wlds E1U ddl HI2 §-510 (@ HI2 53 s GUAlMi ddld 87
Question ID:
Marks 1 10086053
No Options Details Correct Option
1 [ ITR-1 ITR-1 v
2 | ITR-2 ITR-2
3 | ITR-3 ITR-3
4 | ITR4 ITR-4




